OOpaTHble TPUTOHOMETPUYECKHE IOHATHS

1 BapuaHT 2 BApHAHT
1. Beruncnure
2) | aresinl — arctg 0; 2) arccos 0 —aretg 1;
0) Arccos E +arctg| - L %) arcsin| - 1 + arctg E ;
2 JE » 2 3 ]
. 2 Ly
) ctg[arcmg]. 2 « [m‘f]
2. Berunciure
a) I sin [2 Arccos % ]; 2) cos [% aresin % ];
B 3. Pemure ypaBHeHue
a) cas{amcusl{x i 2]] =x% a) sin {arcsin{d.x—l}] = 3x%
0) arcsin (x* —4) = aresin (2x + 4) 0) arccos(x* — x) = arccos (2x - 2)
3 BapuaHT 4 BApHAHT
1. Pemnre ypaBHEeHue
a) arccos [tg % ]— 2arcsin 1; a) aresin (tg%: ]+ 2arccos %;
: 1 3 L
& ) ©) cos| 2arctg v3 + arcctg — |;
6) sin [Earctg N + arcetg -J'E), [ 4 g 5 ]

B) arccos(sin(arctg0) ). B) arcsin(cos(arcctg0) ).

2. Boruuciure
’ 1
sin (&rctg 3 — arcetg [_% ]} cos[arc tg i arcctg 3 ]

3. Pemmnre ypaBHEeHHE

2) ﬁﬂrctng” =2m; 2) Zarcetg (2x-3)=m

6) 6) 2
(arcctg x)° — Barcetg x + 8 = 0. 2{arctgx) - Sarctgx+2=0,



